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//7 5 ZCategory
public class Category {
private String[] pName = new String[51];

private int[] cPrice = new int[51], rPrice = new int[51], sTotal = new int[51], aTotal = new int[51], rank = new int[51];

private int item;

private String cName;

public Category(String cName) {
this. cName = cName;

public void anfO(mt pCod String pNam, int cPri, int rPri) {
item = pCod % 1
pName[item] = pNam cPricelitem] = cPri; rPricelitem] = rPri;

public void calc(int pCod, int sales, int dRate) {
int idx = pCod % 100;
int sPrice = sales * rPricelidx] * (100 - dRate) / 100;
sTotal [1;1{(] 1= sales;
L @© ]

alTotal[idx] += sPrice;
aTotal[0] += sPrice;

public void ranking() {
for(int k = 1; k <= item; kt+) {
[ @ 1

for(int n = 1 n <= item; nt+) {
if( @) D {
rank[k] += 1;

-

}

public void printResult() { )
System. out. printf ("%-5s  [&&A&Et - % 9d] ¥n", cName, aTotal[0]);

System. out. printIn(" MWARL  Rdn? et SHED O FlEET R

for(int r = 1; r <= 10; r+H) {
for(int n = 1; n <= item; ntt) {
if (rank[n] == 1) {
int profit = aTotal[n] - sTotalln] * cPriceln];
double pRate = (double) profit % 100 / aTotal[n];

System. out. printf (" %2d  %-Ts %3d % 7d % Td  %4.1f%¥n", r, pName[n], sTotall[n], aTotalln],

}

}

int pTotal = aTotall[0];

for(int n = 1; n <= item; nt) {

} \ () l;

int avgSales = sTotal[0] / item;

double avgRate = (double) pTotal * 100 / aTotall0];

System. out. printIn(" ARG ;

for(int n = 1; n <= item; nt+) {
int profit = alotal[n] - sTotalln] * cPriceln];
double pRate = (double) profit * 100 / aTotal[n];
if(sTotal[n] < avgSales / 2 && pRate < avgRate) {

2018.01 1—@

profit, pRate);

System. out. printf (" %2d  %-Ts %3d % 7d % 7d %4.1f%¥n", rank[n], pName[n], sTotalln], aTotal[n], profit, pRate);

}

}
// 7 5 ZShoeStore
import java. io.BufferedReader;

public class ShoeStore {
private static String[] cName = {
private static Category[] ct = new Category[ﬂ:
public static void main(String[] args) {
for(int g = 1; g < cName. length; gtt) {
ctlg] = new Category(cNamelgl);

try {

BufferedReader filelnl = new BufferedReader(new FileReader("product.csv"));

String line;
while((line = fileInl. readLine()) != null) {
String[] str = line.split(",
int pCod = Integer. parseInt(str[OD
String pNam = str[1];
int cPri = Integer. parseInt(str[Z])
int rPri = Integer. parselnt(str[3]);
ct[pCod / 100]. pInfo(pCod, pNam, cPri, rPri);

)
fileInl. closeQ;

BufferedReader fileIn2 = new BufferedReader(new FileReader("selling.csv'"));

vhile((line = fileIn2. readLine()) != null) {
String[] str = line.split(",");
int pCod = Integer. parselnt(str[1]);
int sales = Integer. parselnt(str[2]);
int dRate = Integer. parselnt(str[3]);
ctlpCod / 100]. calc(pCod, sales, dRate);

}
fileln2. close();
} catch(Exception e) {
System. out. println("= 5 —=2FELE L + e);

for(int i = 1; i <= 6; itH) {
ctli]. rankingO;

Scanner keyboardIn = new Scanner(Systenm, in);

System. out. print("# 7 ') — a3 — F (I~B)ZEANLTL ZEv—=");
int cCod = keyboardIn. nextInt();

whil‘e(cCod 1= 9) ){ |

System. out. print("# 7 T ) —a— F(A~E)ZASLTLEZEV—>");
cCod = keyboardIn. nextInt(Q;

keyboardIn. close() ;

"y =, "R=—h =", T =y " AL

B

LA v
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Option Explicit
Dim Kmei(5) As String, Hmei(9) As String, Jun(9, 6) As Long, Nkei(9) As Long, Rkei(9) As Long, Tkei(9, 6) As Double, Check(9) As Long

Private Sub UserForm Initialize()
Dim Code As Long, Mei As String, Junl As Long, Hi As Long, Nin As Long, Kin As Long, g As Long, h As Long, 1 As Long, Biko As String
Kmei(1) = "&ZE": Kmel(Z) = "fiiak" Kme1(3) = "@H": Knei(4) = "HL": Kmei(h) = "HER"
Labell. Caption = "": TextBoxl.Text =
CheckBox1. Value = False: CheckBox2.Value = False: ~ CheckBox8.Value = False: CheckBox9. Value = False
Open ThisWorkbook. Path & "¥hoteru.csv" For Input As #1
Do While Not EQF(1)
Input #1, Code, Mei, Juni
Hmei(Code) = Mei
Jun(Code, 0) = Juni
Loop
Close #1
CheckBox1. Caption = Hmei(1): CheckBox2.Caption = Hmei(2): ~ CheckBox8. Caption = Hmei(8): CheckBox9.Caption = Hmei(9)
Open ThisWorkbook. Path & "¥anketo. csv" For Input As #2
Do While Not EOF(2)
Input #2, Hi, Code, Nin, Kin, Tkei(0, 1), Tkei(0, 2), Tkei(0, 3), Tkei(0, 4), Tkei(0, 5)
Nkei (Code) = Nkei(Code) + Nin
Rkei(Code) = Rkei(Code) + Kln
Tkei (Code, ) = Tkei(Code, 0) + 1
For g = 1 T
Tkel(Code, g) = Tkel(Code, g) + Tkei(0, g)
\
Next g
Loop
Close #2
For h = 09
Rkel(h) = Rkel(h) / Nkei(h)
For g =1 To
Tkei (h, g) = Tkei(h, @) / TkeiCh, 0)
Next g
Next h
For g =1To 6
For h =1 To 9
[ @ ]
For 1 =1To 9
If | 3) | Then
%%n(h, g) = JunCh, @) +1

If Jun(h 0) > Jun(h 6) Then

Biko
Elself Jun(h 0) < Jun(h, 6) Then
Biko = " | "

Else
Biko = "—"

End If
. Lﬁbell.Caption = Labell. Caption & Hmei(h) & " " & Format(Jun(h, 0), "0") & " " & Format(Jun(h, 6), "0") & " " & Biko & Chr(13) & Chr(10)
ext
End Sub

Private Sub #&R_ClickO

Dim j As Long, k As Long, m As Long, Hosi As Long, n As Long, s As Long

TextBoxl Text =

For j =1To 9

For k = 1 To
If Check(k) =1And[ @ T )
TextBox1. Text = TextBoxl.Text & Hmel(k) & " AlElER. " &
Format(Jun(k, 6), "0") & "6L “FHR4L " & _

. 1o s Format (Format (Rkei (k), "#, ##0"), "@0@6@") & "FJ" & Chr(13) & Chr(10)
or m = 0

TextBoxl Text = TextBoxl.Text & " [" & Kmei(m) & "FF{fi] "
(5) 1= Int(Tkei(k, m) + 0.5)
For n = 1 To Hosi
TextBoxl. Text = TextBoxl.Text & "¥¢"
Next n
For s = Hosi + 1 To 10
TextBox1. Text = TextBoxl.Text & " "
Next s

TextBox1. Text = TextBoxl.Text & " " & Format(Format(Tkei(k, m), "#0.00"), "@@@ee") & " " & _
Format(Jun(k, m), "0") & "fiz" & Chr(13) & Chr(10)
Next m
End If
Next k

Next j
End Sub
Private Sub #&7 ClickO

End
End Sub

Private Sub CheckBox1 Click()
If CheckBoxl. Value Then
Check(1) =1

Else
Check(1) = 0
End If
End Sub

l

Private Sub CheckBox9_Click()
If CheckBox9. Value Then
Check(9) =

Check(g)
End If
End Sub

0l
o

G EAF Format(Format(1234,5, "###, #40.0"), "000000600")
'> [1,234.5]
> T 1,234.5]
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[3] 1 2 3 4 ) /N a
[4] (1) (2) (3) (4) (5)
[5] (1) (2) (3) (4) (5)
[6] (1) (2) (3) (4) (5) /N a
............................................................ (Javal  [THOEEE] cooeeerrrerrmrri
[7] <1> | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
<2> | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | | |
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st
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(Javal @ =, BEFORIEROZERAIIMHEI,
(7] <1) S\T\O\t\a\l\ [\O\] | \+\: \S\a\l\e\s\
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